


SPARE PARTS

46 - SOFT INSTEP 2 CLOSURE
RCINTFLS2
color: BSHADOW BLACK - SHADOW WHITE - BLACK - WHITE
for model: GENIUS 7 (+MEGA) - EAGLE 7 (+MEGA)
- KAOS - CAPE - DOMINATOR 7 (+MEGA)

= o [

o

72 - SOFTINSTEP 3

RCINTFLS3

color: Eblack -[white

for model: ALBA 2 - TRACE 2 - KAOS - CAPE - ERGO 4
- DRAGON 4 - WIRE - DRAKO

&

l‘-lllllll
T Y FY RN

._(

43 - MTB S.R.S. INSERTS
MRMTBSRO7

color: SILVER/RED

for MTB CARBON SOLE

SIZE: 39/40 - 41/44 - 45/48

(1)

ﬁ.
B BB
F

35 - SCREW - M5X10
RVISHSPD

03 - CALIPER BUCKLE
RLEVASDO6
color: BBLACK - WHITE - RED

for model: GENIUS 7 (+MEGA) - EAGLE 7 (+MEGA) -
KAOS - CAPE - DOMINATOR 7 - BREEZE

108 - DOUBLE TECNO-3 PUSH - HALF PAIR
RLETE3DOSI
color: Bblack -[white

for model: SHOT - TIGER

%ﬂﬂr -.icé
- ____J3
T i
fasg 143
-
Lo
w : e (B
e
16 -MTBS.R.S
RMTBSRS
color: SILVER/YELLOW
for MTB SRS SOLE

SIZE: 39/40 - 41/44 - 45/48

for ALL MODELS

LD

{0

08 - STRAP FOR CALIPER BUCKLE

RCINTSDO6

color: Bblack -[white

for model: GENIUS 7 (+MEGA) - EAGLE 7 (+MEGA) -
KAOQOS - CAPE - DOMINATOR 7 - BREEZE

99 - DOUBLE TECNO-3 PUSH - ONE PAIR
RLETE3DOPA
color: Bblack -[white

for model: SHOT - TIGER

‘(ﬁ{'_," .

17 - MTB S.R.S. METATARSUS INSERT
RINSMET

color: GREY

for MTB SRS SOLE

SIZE: 39/40 - 41/44 - 45/48



78 - TECNO-3 PUSH - SHORT - 75
RLETE3PCOR

color: I black/black -  white/white - Bl black/black/coral

1 black/black/yellow
size: mm 75

model: WIRE - WIRE 2 - DRAKO 2 - ERGO 5 - ERGO 5 MEGA

DRAGON 5 - DRAGON 5 MEGA - JARIN

77 - TECNO-3 PUSH - LONG - 155
RLETE3PLUN

color: B black/black - [ white/white
size: mm 155

model: WIRE - DRAKO - PHYSIS

TECNO-3 PUSH - 115
RROTORO08

color: B black/black
size: mm 115

model: PHYSIS

TECNO-3 PUSH - 130

RROTOR09

color: I black/white - B black/black -  white/white
size: mm 130

model: ERGO 6 - PHYSIS

TECNO -3 -65
RROTOR10

color: B black/black - I black/yellow fluo

size: mm 65

model: SILVIS

TECNO-3-85
RROTORT1

color: B black/black - B black/yellow fluo

size: mm 85
model: SILVIS

TECNO - 3 - MAXI-180
RROTOR12

color: B black/black
size: mm 180

model: HIEMX

TECNO - 3 - MAXI - 200
RROTOR13

color: B black/black
size: mm 200

model: HIEMX

358 TECNO - 3 - MAXI - 255
RLETE3M255

color: B black/black

size: mm 255

model: MTB TURBO - NIX

369 - TECNO - 3 - MAXI - 275
RLETE3M275

color: B black/black

size: mm 275

model: DUST - NIX

57 - TECNO - 3 SHORT -75
RLETE3COR

color: Bblack/black - ] white/white - B black/yellow fluo

I black/white
size:mm 75

model:  GENIUS 10 - EAGLE 10 - ALBA 2 - TRACE 2
ERGO 4 - DRAGON 4 - ALBA - TRACE

PRIMA - AERTIS - GENIUS 10 KNITTED - SILVIS

71-TECNO - 3LONG - 155
RLETE3LUN

color: Bblack/black - ] white/white - B black/yellow fluo

I black/white
size: mm 155
GENIUS 10 - EAGLE 10 - KAOS - GENIUS10 KNITTED

97 - TECNO - 3 - MAXI1190
RLETE3MAXI

color: B black/black

size: mm 190

model: MTB SD15

TECNO - 3 - MAXI - 240
RROTOR14

color: B black/black
size: mm 240

model: NIX

322 - TECNO - 3 - MAXI - 265

RLETE3M265

color: black/black - I black/white - B black/coral
size: mm 265

model: DEFENDER 20 - GRAVEL - SPEED - FAST

TECNO - 3 - MAXI - 290
RROTOR15

color: B black/black
size: mm 290

model: NIX

351-TECNO - 3PUSHFLEX -140
RLETE3FLEX

color: [ white/white - B black/black
size: mm 140

model: SHOT 2 - TIGER 2

342-TECNO -4 PUSH -220
RLETE4MEC

color: Eblack/black

size: mm 220

model: SYXTY

297 - SINGLE TECNO - 3PUSH - 170
RLETE3SIPA

color: [ white/white - B black/black
size:mm 170

model:  WIRE 2 - DRAKO 2 - JARIN

370-TECNO - 4IRON -230
RLETE4ACC230

color: B black/black

size: mm 230

model: TRI-SIXTY



387 - SOFTINSTEP 5

296 - SOFT INSTEP 4

RCINTFLSS

RCINTFLS4

color: white - B black - I black/grey - B black/green - B black/red

color: Bblack - white

for model: WIRE 2S - DRAKO 2S - GENIUS 10 - MTB EAGLE 10 - GENIUS 10

KNITTED

for model: WIRE 2 - DRAKO 2 - ERGO 5 - ERGO 5 MEGA - DRAGON 5
DRAGON 5 MEGA - GENIUS 10 - EAGLE 10 - JARIN

T — S~ S

341-TECNO-4 PLATE

107 - REFLEX ADJUSTABLE HEEL RETENTION DEVICE

40 - ADJUSTABLE HEEL RETENTION DEVICE

RLETE4PAT

RTALLHCSR1

RTALLHCSRE

color: B black

color: B black - l black/anthracite

color: Bblack -[white

for model: SHOT 2 - TIGER 2 - SHOT - TIGER - JARIN
SIXTY - WIRE - WIRE 2S - DRAKO
DRAKO 2S

SHOT 2 - TIGER 2 - SHOT - TIGER - JARIN SIXTY -

WIRE - WIRE 2S - DRAKO
DRAKO 2S

L

Lo
L

-

50 - REPLACEABLE HEEL

343 - ANTISLIP HEEL

106 - ANTISLIP HEEL

MILLENIUM HEEL

RTACCOPU2

RTACCOPU1

RTACCOPU

RTACCORGO6

color: B black

color: Bred

color: Hred

color: B black

for model: ERGO 6

SIZE: 36/39 - 40/44 - 45/50

&
[

&
&

128 - TOE INSERT MTB17

MTB STUDS X2FC

18 - MTB STUDS

RINSMTB17 RSTUDSPHYSIS RPUNT2FO
color: I black - B red - Banthracite - Ebrown color: B black
for: MTB Carbon Ground Sole
model:  TRACE - EAGLE 10 - TRACE 2 model: PHYSIS MTB Carbon .C.omposite Sole
FROST - FROST 2 - MTB DUST MTB Competition Sole
MTB SR17 Sole
| I = p
v v T o =g =P
=

¥
v v

353 - ANTI SLIP HEEL INSERT

352 - C-BOOST SRS TOE INSERT

74 - VENT AIR INTAKE

RTACCOCBOOST

RINSCBOOST

RPREAIR12

color: M grey/black - W black/red

color: Ml grey/black - W black/red

color: B red - Bblack

size: 38/41-42/48

size: 38/41-42/48

size: 38/40 - 41/44 - 45/48 - for VENT SOLE

for model: SHOT - WIRE 2 - SIXTY

-

AA

< g
=g

66 - REPLACEABLE MTB CARBON PLATE

19 - REINFORCEMENT PLATE

RMTBPIASOS

RPIAS4FO

color: B black

for MTB Soles

model: TIGER 2 - TIGER DRAKO 2 - DRAKO - JARIN




59 - S.R.S. CARBON-GROUND INSERTS

75 - MTB S.R.S.INSERTS

RINSCARSRS

RMTBSRSCC

color: M black - I red

color: M anthracite/grey

size: 38/40 - 41/44 - 45/48

size: 39/40 - 41/44 - 45/48

model: TIGER 2 - TIGER - DRAKO 2 - DRAKO - JARIN

model: DRAGON 5 - DRAGON 4 - EAGLE 6 - SPIDER

L

Yewywy BABRERS

yyvyy'y SASERAE

G - L >~
379 - DUST LACES CYCLELACES 130 CYCLELACES 110
RSHOELACE RCYCLELACES130 RCYCLELACES110
color: I black/reflex color: B black color: Bblack
size: cm 110 size: cm 130 size: cm 110
for model: DUST SHOELACE for model: MOTUS - ATOMUS for model: ASPER LACES

. . '-71.

." --rf.

87 - LONDONY INSOLE

98 - MEMORY INSOLE

73 - COMFORT FIT INSOLE

RSOLOND

RSOMEMORY

RSOCOMFIT

color: I grey

color: M red/blue

color: Bblack

size: from 38 to 48

size: from 38 to 48

size: from 38 to 48

373 - ZERO INSOLE

MONOCALIO INSOLE

ROMAPET INSOLE

RSOZERO

SOTTMONCALIO

SOTTROMAPET

color: [ white

color: M grey/coral

color: l black/coral

size: from 38 to 48
for ALL MODELS

size: from 38 to 48
for ALL MODELS

size: from 38 to 48
for ALL MODELS




SHOT 25

- C-BOOST SRS SOLE

RTALLHCSRE . RINSCBOOST

40 - ADJUSTABLE HEEL RETENTION DEVICE ® 352 - C-BOOST SRS TOE INSERT
4

M siack-[ JwHite . B crev/BLAck - Bl BLACK/RED

SIZE | 38/41 - 42/48
RTALLHCSR1

@ 107 - REFLEX ADJUSTABLE HEEL RETENTION DEVICE - RTACCOCBOOST

)‘
B crev/BLAck - ¥ BLACK/NTRACITE < @ 353 - ANTI SLEEP HEEL INSERT
B crev/BLAck - Bl BLACK/RED
SIZE | 38/41 - 42/48
RLETE3FLEX

(@) 351- TECNO-3 PUSH FLEX 140 MM (
B BLACK/BLACK - [ | WHITE/WHITE

35 - SCREW - M5X10
RVISHSPD &

&
for ALL MODELS &

BH

ALL INSOLES MODELS, CAN BE ADOPTED FOR THIS PRODUCT]

-ROAD



WIRE 25 - WOMAN

- VENT CARBON SOLE

RTALLHCSRE

. RPREAIR12
(1) 40 - ADJUSTABLE HEEL RETENTION DEVICE .
M siack-[ lwame .
RTALLHCSR1

74 - VENT AIR INTAKE

@ 107 - REFLEX ADJUSTABLE HEEL RETENTION DEVICE

M sLack - M RreD
B crev/BLAck - BF BLACK/NTRACITE Q
RCINTFLS4

@ 296 - SOFT INSTEP 4

M suack-[ Jwhime

v
0

L)

@ 50 - REPLACEABLE HEEL
387 - SOFT INSTEP 5

== :I RTACCOPU
RCINTFLSS

[
M rep ~
RTACCOPU1
® _ (6 106 ANTI-SLIP HEEL
W sLackwhite - Mwhime/sLack -l BLACK/GREY [T
W s ack/creen - I BLACK/RED
RTACCOPU2
®
RLETE3PCOR (6 343-ANTI-SLIPHEEL ’
W sLack
(3 78-TECNO-3PUSH - SHORT - 75
1 BLACK/BLACK - ] WHITE/WHITE
I BLACK/BLACK/CORAL - I BLACK/BLACK/YELLOW
RLETE3COR m
() 57~ TECNO-3SHORT -75
B BLACK/BLACK - [ WHITE/WHITE

’ |
I BLACK/YELLOW FLUO - IJBLACK/WHITE

RLETE3SIPA

@ 297 TECNO 3 PUSH SINGLE - 170

35 - SCREW - M5X10 "
RVISHSPD & ., ™
for ALL MODELS 4
M suackssLAck - IwHTEwHITE

[ALL INSOLES MODELS, CAN BE ADOPTED FOR THIS PRODUCT]

P

-ROAD



-ROAD

ERGO 6

- R2FC SOLE

RROTORO09
@ TECNO-3 PUSH - 130

I BLACK/WHITE - I BLACK/BLACK - [ WHITE/WHITE

RTACCORGO6

MILLENIUM HEEL
©) M sLack

SIZE: 36/39 - 40/44 - 45/50



GENIUS 10 KNITTED

- CARBON COMPOSITE 20 SOLE

RCINTFLS4 RTACCOPU
208 - SOFT INSTEP 4 \ SO @ 50-REPLACEABLEHEEL &,
Meiack-[ JwHiE M rep ~
RCINTFLS5 RTACCOPU1
@ 387 - SOFTINSTEP 5 & @) 106 - ANTI-SLIP HEEL
0 IsLackwhite - Mwhime/sLack -l BLACK/GREY H:o
W s ack/creen - I BLACK/RED
RTACCOPU2
[ 3
RLETE3COR @ 343- ANTI-SLIP HEEL "
M sack
(@) 57~ TECNO-3SHORT -75 o
BBLACK/BLACK - D WHITE/WHITE \
i}
I BLACK/YELLOW FLUO - I BLACK/WHITE J \
RLETE3PCOR
® 78 - TECNO-3 PUSH - SHORT - 75
B BLACK/BLACK - [ WHITE/WHITE
I BLACK/BLACK/CORAL - Il BLACK/BLACK/YELLOW
RLETE3LUN m
® 71- TECNO-3 LONG - 155 l
i
I BLAck BLACK -[ I WHITE/WHITE | \
i
I BLACK/BLACK/CORAL - Il BLACK/BLACK/YELLOW J \
RLETE3PLUN
@ 77 - TECNO-3 PUSH - LONG - 155 35 - SCREW - M5X10 & .
-
W sLack/sLack - L IwHimepwmiTe RSHEE 4
for ALL MODELS P &

[ALL INSOLES MODELS, CAN BE ADOPTED FOR THIS PRODUCT]

-ROAD



GENIUS 10 - MEGA - WOMAN

- CARBON COMPOSITE 20 SOLE

RCINTFLS4 RTACCOPU

() 296-SOFTINSTEP4 @ 50-REPLACEABLEHEEL &,
Meiack-[ JwHiE M rep ~
RCINTFLS5

RTACCOPU1
@ 387 - SOFT INSTEP 5 & @) 106 - ANTI-SLIP HEEL
0 IsLackwhite - Mwhime/sLack -l BLACK/GREY Mo
W sLack/oreen - Il BLACK ReD

RTACCOPU2
RLETE3COR

@ 343 - ANTI-SLIP HEEL
@ 57 - TECNO-3 SHORT - 75

M snck
|
BBLACK/BLACK - D WHITE/WHITE ’
I BLACK/YELLOW FLUO - I BLACK/WHITE

RLETE3PCOR

@ 78 - TECNO-3 PUSH - SHORT - 75

I BLACK/BLACK - WHITE/WHITE
I BLACK/BLACK/CORAL - I BLACK/BLACK/YELLOW

RLETE3LUN

a8 @

@ 71- TECNO-3 LONG - 155 ’ \
i

[ | BLACK/BLACK - L] WHITE/WHITE
I BLACK/BLACK/CORAL - I BLACK/BLACK/YELLOW

RLETE3PLUN
@ 77 - TECNO-3 PUSH - LONG - 155

35 - SCREW - M5X10
I &L AcK/BLACK - || WHITE/WHITE

a

%z

RVISHSPD & ., ™
%

for ALL MODELS P 4

ALL INSOLES MODELS, CAN BE ADOPTED FOR THIS PRODUCT]

-ROAD



FAST 2 - LAGHEE SPRINTER

- AEROLITE SOLE

RLETE3M265 m RTACCOPU
@ 322 - TECNO- 3 - MAXI - 265

(2) 5OREPLACEABLE HEEL
’ |
\ M rep
B BLACK/BLACK - I BLACK/WHITE - B BLACK/CORAL J

rr

RTACCOPU1
@ 106 ANTI-SLIP HEEL

M rep

RTACCOPU2
(2) 343 ANTI-SLIP HEEL
W sack

>

35 - SCREW - M5X10 :
RVISHSPD

“q
for ALL MODELS

#,

5,

4

[ALL INSOLES MODELS, CAN BE ADOPTED FOR THIS PRODUCT]

-ROAD



-ROAD

PRIMA - PRIMA MEGA - PRIMA WOMAN

RLETE3COR

@ 57 - TECNO-3 SHORT -75

B BLACK/BLACK -] WHITE/WHITE

I BLACK/YELLOW FLUO - IBLACK/WHITE

RTACCOPU
(@ 50-REPLACEABLEHEEL &
|\ M rep ~
|
\ RTACCOPU1
@) 106- ANTI-SLIP HEEL
RLETE3PCOR M re0
® 78 - TECNO-3 PUSH - SHORT - 75 RTACCOPU2
B BLACK/BLACK - ) WHITE/WHITE
I BLACK/BLACK/CORAL - I BLACK/BLACK/YELLOW ‘

343 - ANTI-SLIP HEEL
M eLack

35 - SCREW - M5X10
RVISHSPD

i,
for ALL MODELS

‘,
g |

&
ALL INSOLES MODELS, CAN BE ADOPTED FOR THIS PRODUCT]

o,




NIX

-R2CC SOLE

RROTOR14

@ TECNO- 3 - MAXI - 240

FROM SIZE 36 TO 38
I BLACK/BLACK

|
i
\

RLETE3M255

@ 358 TECNO- 3 - MAXI - 255
FROM SIZE 39 TO 42
B BLACK/BLACK

RLETE3M275

@ 369 - TECNO- 3 - MAXI - 275
FROM SIZE 43 TO 46
B BLACK/BLACK

RROTOR15

@ TECNO- 3 - MAXI - 290

FROM SIZE 47 TO 50
B BLACK/BLACK

S
Q
@



- TRIATHILON

I-5 AIR - T-5 AIR WOMAN

- CARBON COMPOSITE 20 SOLE

RTACCOPU
(@) 50-REPLACEABLEHEEL &,
M rep ~
RTACCOPU1
@) 106- ANTI-SLIP HEEL :
M rep
RTACCOPU2
343 - ANTI-SLIP HEEL
M snck
35 - SCREW - M5X10 £ .
RVISHSPD & ., ™
a,
for ALL MODELS &
&
ALL INSOLES MODELS, CAN BE ADOPTED FOR THIS PRODUCT



TRI-SIXTY

- C-BOOST SRS SOLE

RLETE4PAT
@ 341- TECNO-4 PLATE

M sLAck

RLETE4ACC230
@ 370 - TECNO-4 PUSH IRON - 230

I BLACK/BLACK

@

RINSCBOOST
352 - C-BOOST SRS TOE INSERT

® B crev/BLAck - B BLACK/RED
SIZE | 38/41 - 42/48

RTACCOCBOOST

) i
@ 353 - ANTI SLEEP HEEL INSERT
I Grev/sLack - M BLACK/RED
SIZE | 38/41- 42/48

35 - SCREW - M5X10 & .
RVISHSPD q . =
for ALL MODELS P 4

ALL INSOLES MODELS, CAN BE ADOPTED FOR THIS PRODUCT]

- TRIATHILON



-XC

MTB TIGER 25

- MTB SRS CARBON-GROUND SOLE

RTALLHCSRE
40 - ADJUSTABLE HEEL RETENTION DEVICE

M siack-[ JwHite

RTALLHCSR1
@ 107 - REFLEX ADJUSTABLE HEEL RETENTION DEVICE

| GREY/BLACK-I BLACK/NTRACITE

RLETE3FLEX
@ 351 - TECNO-3 PUSH FLEX 140 MM

. I

B BLACK/BLACK - [ | WHITE/WHITE

ONGNO

RINSCARSRS

59 - SRS CARBON-GROUND INERTS
® W BLACK - B RED

SIZE | 38/41- 42/48

¥
g
»
g
- B r
RPUNT2FO -
18 - MTB STUDS 9
@ = =
RPIAS4FO
® 19 - REINFORCEMENT PLATE
RMTBPIASOS
® 66 - REPLACEABLE MTB CARBON PLATE m
35 - SCREW - M5X10 & .
RVISHSPD 4. =
for ALL MODELS P &

ALL INSOLES MODELS, CAN BE ADOPTED FOR THIS PRODUCT]



MTB DRAKO 25

- MTB SRS CARBON-GROUND SOLE

RTALLHCSRE
@ 40 - ADJUSTABLE HEEL RETENTION DEVICE

W eiack-[ JwHiTE

RTALLHCSR1
@ 107 - REFLEX ADJUSTABLE HEEL RETENTION DEVICE

{

B crev/BLAck - BF BLACK/NTRACITE

RCINTFLS4
@ 296 - SOFT INSTEP 4

M suack-[ Jwhime

RCINTFLSS
387 - SOFT INSTEP 5

©) W JeLackswhime - Mwnime/Lack - BLACK/GREY
W s ack/creen - I BLACK/RED

RLETE3PCOR

(3 78-TECNO-3PUSH - SHORT - 75

I BLACK/BLACK - U WHITE/WHITE
I BLACK/BLACK/CORAL -1 BLACK/BLACK/YELLOW

RLETE3COR

@ 57 - TECNO-3 SHORT -75
I BLACK/BLACK - U WHITE/WHITE
I BLACK/YELLOW FLUO - IJBLACK/WHITE

RLETE3SIPA
@ 297 - TECNO 3 PUSH SINGLE - 170

[ | BLACK/BLACK - D WHITE/WHITE

RINSCARSRS

@ 59 - SRS CARBON-GROUND INERTS
I BLACK - BN RED

SIZE | 38/41 - 42/48

W W W e e

RPUNT2FO
@ 18 - MTB STUDS

RPIAS4FO
@ 19 - REINFORCEMENT PLATE

RMTBPIASOS

® 66 - REPLACEABLE MTB CARBON PLATE m

35 - SCREW - M5X10 & .
RVISHSPD a . =
for ALL MODELS P 4

[ALL INSOLES MODELS, CAN BE ADOPTED FOR THIS PRODUCT]

CNGNO

-XC



-XC

PHYSIS

- X2FC SOLE

RROTORO8
TECNO-3 PUSH - 115

®

FROM SIZE 38 TO 41,5
B BLACK/BLACK

RROTORO09
TECNO-3 PUSH - 130

FROM SIZE 42 TO 44,5

B BLACK/BLACK - [J WHITE/WHITE
IIBLACK/WHITE

RLETE3PLUN

77 - TECNO-3 PUSH - LONG - 155
FROM SIZE 45 TO 48

W BLACK/BLACK - OWHITE/WHITE

®

RSTUDSPHYSIS
@ MTB STUDS _X2FC

M sLack




SILVIS

- X2NC SOLE

RROTOR10

TECNO-3 - 65

FROM SIZE 38 TO 41,5

B BLACK/BLACK - I BLACK/YELLOW FLUO

®

RLETE3COR
57 - TECNO-3 SHORT -75

FROM SIZE 42 TO 44,5

B BLACK/BLACK - [J WHITE/WHITE
IBLACK/WHITE -B BLACK/YELLOW FLUO

RROTOR11

TECNO-3 -85

FROM SIZE 45 TO 48
HBLACK/BLACK - I BLACK/YELLOW FLUO

®

-XC



-XC

-MTB SR17 SOLE

MTB EAGLE 10 - MEGA - WOMAN

RCINTFLS4
296 - SOFT INSTEP 4

RINSMTB17
Meiack-[ JwHiE

128 - TOE INSERT MTB17

Y
@ B BLACK - Il RED - I ANTHRACITE - HBROWN a ¥ %
RCINTFLS5
@ 387 - SOFTINSTEP 5 & RPUNT2FO -
0 IsLackwhite - Mwhime/sLack -l BLACK/GREY 18 - MTB STUDS
W s ack/creen - I BLACK/RED ®
RLETE3COR m

@ 57 - TECNO-3 SHORT -75
B BLACK/BLACK - [] WHITE/WHITE
I BLACK/YELLOW FLUO - I BLACK/WHITE J

RPIAS4FO

@ 19 - REINFORCEMENT PLATE
|

RLETE3PCOR

@ 78 - TECNO-3 PUSH - SHORT - 75
I BLACK/BLACK - WHITE/WHITE
I BLACK/BLACK/CORAL - I BLACK/BLACK/YELLOW

RLETE3LUN
71- TECNO-3 LONG - 155
@ [ | BLACK/BLACK - L] WHITE/WHITE
I BLACK/BLACK/CORAL - I BLACK/BLACK/YELLOW

a8 @

RLETE3PLUN
@ 77 - TECNO-3 PUSH - LONG - 155

35 - SCREW - M5X10
I &L AcK/BLACK - || WHITE/WHITE

a

%z

RVISHSPD & ., ™
%

for ALL MODELS P 4

ALL INSOLES MODELS, CAN BE ADOPTED FOR THIS PRODUCT]



MTB AERTIS - MEGA - WOMAN
COFFEE GRINDER

- AEROLITE SOLE

RLETE3COR

@ 57 - TECNO-3 SHORT -75

RINSMTB17
I BLACK/BLACK - U WHITE/WHITE

@ 128 - TOE INSERT MTB17 5
| I BLACK - HRED - HANTHRACITE - EBROWN v v
|
L
‘A
I BLACK/YELLOW FLUO - IJBLACK/WHITE J \
RPUNT2FO
RLETE3PCOR
@ 78 - TECNO-3 PUSH - SHORT - 75

@ 18 - MTB STUDS
B BLACK/BLACK - [] WHITE/WHITE
I BLACK/BLACK/CORAL - I BLACK/BLACK/YELLOW

RPIAS4FO

@ 19 - REINFORCEMENT PLATE

35 - SCREW - M5X10
RVISHSPD

i,
“q
for ALL MODELS

5,

4

&
[ALL INSOLES MODELS, CAN BE ADOPTED FOR THIS PRODUCT]

-XC



-XC

HIEMX

RROTOR 12

@ TECNO-3 A~ 180
FROM SIZE 36 TO 42
N BLACK/BLACK

RROTOR13

@ TECNO- 3 - MAXI - 200
FROM SIZE 43 TO 50
B BLACK/BLACK




GLACIES

- X2NC SOLE

ALGOR

- X2NC SOLE

-XC



- GRAVEL

ASPER LACES

- GRINC SOLE

RCYCLELACES110
CYCLELACES 110

size: cm 110

B BLACK/BLACK

35 - SCREW - M5X10 {

RVISHSPD & ‘t i

«
&,

ALL INSOLES MODELS, CAN BE ADOPTED FOR THIS PRODUCT]



MTB DUST

- SR17 SOLE

RLETE3M275
369 - TECNO- 3 - MAXI - 275

color: Bblack/black {

RINSMTB17
@ 128 - TOE INSERT MTB17 ¥
MTB DUST LACES A a”" .
- SR17 SOLE
RPUNT2FO i

18 - MTB STUDS

RPIAS4FO
19 - REINFORCEMENT PLATE

35 - SCREW - M5X10
RVISHSPD &

for ALL MODELS

3
&

Y.

ALL INSOLES MODELS, CAN BE ADOPTED FOR THIS PRODUCT]

RSHOELACE
379 - DUST LACES

color: I black/reflex

size: cm 110

- GRAVEL



- ALL MOUNTAIN

MTB TURBO

- OUTDOOR SOLE

RLETE3M255 m RPIAS4FO
(1) 358 TECNO- 3 - MAXI - 255

| @ 19 - REINFORCEMENT PLATE
color: Bblack/black J ‘

MTB S5D15

-OUTDOOR SOLE

RLETE3MAXI m RPIAS4FO
19 - REINFORCEMENT PLATE
(1) 97- TECNO-3 SYSTEM_MAXI190 | ‘ )
i
color: B black/black J ‘




ATOMUS - ATOMUS GTX

- ATOMUS AT1CLPL SOLE

MOTUS - MOTUS GTX

-MOTUS AT1FL SOLE

RCYCLELACES130

CYCLELACES 130

color: Bblack E— = &
size: cm 130 !

®

- ALL MOUNTAIN






